

$$\begin{array}{r} 1, 7, 3 \\ \hline 4 \end{array}$$

(6)

(\*)  $7, 10, 16, 28, 52, \dots$   
 $3, 6, 12, 24, \dots$

$$a_n = a_{n-1} + S_{n-1}^*$$

$$= 7 + \frac{3(2^{n-1}-1)}{2-1} = 7 + 3 \cdot 2^{n-1} - 3 = 4 + 3 \cdot 2^{n-1}$$

(7)

$$a_2 - a_1 = 3$$

$$a_3 - a_2 = 6$$

$$a_4 - a_3 = 12$$

$$a_5 - a_4 = 24$$

$\vdots$

$$a_{n+1} - a_n = 3 \cdot 2^{n-1}$$

$$a_{n+1} = a_n + 3 \cdot 2^{n-1}$$

$$a_1 = 7$$

30  
102)

10  
n  
30  
103)

(8)

$$S_n = a_1 + a_2 + \dots + a_n$$

$$= (4 + 3 \cdot 2^0) + (4 + 3 \cdot 2^1) + (4 + 3 \cdot 2^2) + \dots + (4 + 3 \cdot 2^{n-1}) =$$

$$= (4 + 4 + \dots + 4) + 3(2^0 + 2^1 + \dots + 2^{n-1}) =$$

$$= 4n + 3 \cdot \frac{2^0(2^n-1)}{2-1} = 4n + 3 \cdot 2^n - 3$$